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[Answer all questions, each question carries 10 marks]

Q1. Select the most appropriate answer for each question and write down the answer in
the "answer script”. ‘

[Each sub question carries 1 Mark]

i) Part-time entrepreneurship has an additional advantage over starting up a company
full-time in that:
A) it is a much lower risk for the entrepreneur.
B) it doesn't require a business plan.
C) the entrepreneur can change products and markets more easily.
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D) the entrepreneur doesn't need to know the industry as well.

ii) Some small businesses create innovations by spotting opportunities on
which to capitalize.
A) responsibly
B) compassionately
C) reactively
D) proactively

iii) A business plan for the small business owner:
A) is of relatively little importance due to the dynamic nature of the marketplace.
B) is synonymous with the marketing plan.
C) tends to stress how the entrepreneur will operate rather than detailing what
he/she wants to accomplish.

D) contains both a marketing plan and a financial plan.

_is built on the basic accounting equation: Assets = Liabilities + Owner's
A) income statement

B) sources and uses of funds statement

) balance sheet

D) cash budget
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v) A technique that allows the small business owner to perform tinancial analysis bv
understanding the relationship between two accounting elements is called:
A) creating the pro forma.
B) budgeting.
C) break-even analysis.

D) ratio analvsis.

vi) Factors that may cause project management to fail include
A) wrong project manager.
B) lack or misuse of project management techniques.
©)
D)

inadequate rationale, objectives, tasks, and goals.
all of the above.

vii) A hierarchical structure of potential risk sources that can be used effectively to
structure, identify, and understand risks best defines
A) opportunity breakdown structure.
B) project work breakdown structure.
C) risk breakdown structure.
D) risk iteration structure.

viii) What is the late start time for Activity B given the activity times and precedence
requirements shown in the table?

Activity Time Predecessor
A 5 -
B 8 A
C 4 A
D 5 B, C
A)18
B)9
)13
D)5

ix) Which of these approaches will NOT accelerate the completion of a project?
A) Improve the productivity of existing project resources.
B) Increase the bureaucratic oversight.
C) Improve the working method.

D) Increase the quantity of personnel and equipment.
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x) A T4-week construction activity requires a crane that rents for Rs. 1,000 per week

and a crew of general laborers that costs Rs. 5,000 per week. [n order to complete
this activity within 10 weeks, vou must hire dudmonal general laborers at a cost ot
Rs. 2,000 per week. What is the slope for this activity?

A) Rs. 0 per week

B) Rs. 1,000 per week

C) Rs. 2,000 per week

D) Rs. 6,000 per week

i) One of the few thorough studies on entrepreneurial characteristics was conducted

between 1987 and 2002 by Walter Kuemmerle, an Associate Professor at Harvard
Business School, who examined more than fifty start-up enterprises in twenty
countries and across all industries. Some were successful;, others were not. From
this mixed bag Kuemmerle distilled five characteristics of successful entrepreneurs,
a list he views as a litmus test for people who want to start their own business. He
found that those characteristics are firm across industries and countries.

List those five characteristics of successful entrepreneurs, which were identified by
Kuemmerle, and discuss them in brief.
[5 Marks]

ii) Project Management (PM) has become one of the main components of standard

undergraduate engineering programs offered at most Australian universities. It is
also one of the key abilities of a professional engineer as stipulated by Engineers
Australia’s Stage 1 Competency Standard. However, details regarding specific PM
knowledge areas that engineers, especially at graduate or junior levels, should
possess are largely unavailable. Such limitations also mean that the structuring of
an existing Engineering Project Management (EPM) course would be based on a
less informed decision. To cope with this limitation, Kriengsak Panuwatwanich of
Griffith University, Gold Coast, Australia, Rodney A. Stewart of Griffith
University, Gold Coast, Australia and Kali Prasad Nepal of Victoria University,
Melbourne, Australia have conducted a research, named "Project management
skills for engineers: industry perceptions and implications for engineering project
management course’, to provide a better understanding of the critical PM areas
based on the input from industry practitioners. The results from a survey of 30
practitioners showed certain PM knowledge areas that engineers should possess
along with their perceived importance and perceived skills comparison.

You are required to discuss those Pr( ect Management Knowledge areas that
engineers should possess and brieflv analyze their perceived importance as per the
result showed in the said research.

[5 Marks]
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Q3. 1) Entrepreneurs don’t tail—the venture fails. Failure is a possibility for all
entrepreneurs and it needs to have perspectives, About 32% of new companies fail
within 5 years. Entrepreneurs are not paralvzed by the prospect of failure. Failure
is a natural part of the creative process. Successful entrepreneurs learn to fail
intelligently.

What does it mean for entrepreneurs to "fail intelligently?"
[5 Marks]

ii) What can an entrepreneur do to avoid the failure of his/her business? Discuss at
least tive actions they can take?
[3 Marks]

iif) What advice would vou offer an entrepreneurial friend who has just suffered a
business failure?
[2 Marks]

Q4. i) What is the entrepreneurial "secret” for creating value in the marketplace? In reality,
the "secret” is no secret at all: It is applying creativity and innovation to solve
problems and to exploit opportunities that people face every day.

What is the difference between creativity and innovation in entrepreneurship?

[3 Marks]

it) "Creativity doesn’t just happen in organizations; entrepreneurs must establish an
environment in which creativity can flourish—for themselves and for their
workers. New ideas are fragile creations, but the right company culture can
encourage people to develop and cultivate them. Ensuring that workers have the
freedom and the incentive to be creative is one of the best ways to achieve

innovation”.

What are your suggestions to create a culture of innovation which enables
entrepreneurs to stimulate their own creativity and encourage it among workers?
[3 Marks]

iil) "An effective marketing program depends on a clear, concise definition of the

i

firm’s target customers.” How is the target market important to the small
business? What does this concept signify about changes in marketing? |

[2 Marks]

v) "It is important for entrepreneurs to develop financial plans for their businesses. ”
Identity and explain two profitability ratios a small business owner can use to
ki

measure how effectively he/she is managing the business.

[2 Marks]
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Q5. i) "Project management is no longer a special-need management. [t is rapidly
becoming a standard way of doing business.” Discuss importance of successtul
project management to an organization and to vou.

[2 Marks]

ii) When a risk event is identified and assessed,

o3

a decision must be made concerning
which response is appropriate for the specific event.

Name classification of responses to risks identified and assessed.
[1 Mark]

iii) Galle Creative Products (Pvt) Limited has decided to produce a Christmas Toy by

the year end 2015, The following information has been given for the "Christmas
Toy Project.”

Act. 1D Description Predecessor Optm. Most | Pess. (b)
(@) likely (m)
1 Design package Nomne 6 12 24
2 Design product 1 16 19 28
3 Build package 1 4 7 10
4 Secure patent 2 21 30 39
5 Build product 2 17 29 47
6 Paint 3,4,5 4 7 10
7 Test market 6 13 16 19

a) Compute the expected time for each activity.

[1 Mark]

b) Draw a Network Diagram using "AON" method and mark the Critical Path.
[2 Marks]

c) Compute the variance for each activity.

[1 Mark]
d) Compute the expected project duration.

[1 Mark]
e) What is the probabilitv of completing the project by day 937

[T Mark]

f) Based on the above answer what will be vour reactions as a typical project

manager’

[1 Mark]
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Q6. i) Managers have several effective methods for crashing specific project activities.
Those methods could be different from each other when resources are not
constrained and when resources are constrained.

Brieflv explain three effective methods for crashing project activities when
resources are not constrained.
[3 Marks]

ii) The heir to the throne was due 56 days from now and the first-time father had a
serious construction project on his hands converting his man cave into a nursery.

The seven activities, their normal and expedited times (in days) and costs appear in

the table.
Crash
Activity | Normal time | time |Normal Cost| Crash Cost Predecessor
Label (days) (days) (Rs.) {Rs.) Activities
A 5 3 500 1100
B 18 15 900 2300 A
C 12 9 2500 3000 A
D 9 7 500 650 B
E 15 12 3000 5000 B
B 12 10 4000 5000 ¢ D
G 20 15 3600 4800 E F

a) What is the minimum cost to ensure that this project is completed in 56 days?
Which activities should be reduced and by how many days?
[5 Marks]
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b) If following additional information is given, calculate total cost of the project at
each project duration and explain what is the optimum project duration, which

gives the maximum benetfit to father?

Project Duration Indirect Cost {Rs.)
(Days)

64 12,800

63 12,600

62 12,400

61 12,200

60 12,600

59 11,800

58 11,600

57 11,400

56 : 11,200

[2 Marks]
CHULATIVE PROBABILITIES OF THE STANDARD NORMAL DISTRIBUTI
Ertey i avem |~ o uhder the standasd normal sures from - = fo 2 b

z & o A i 8 . il a8 m
B B 534 B0E Stz B8 Bl =i 5 a1 SES
A £58 540 By it BES 588 B&) EBT BT 57
%2 55 RS 587 BB s YR Bog Eovicd B B4
3 517 821 BaE By B 556 B30 B4 548 BT
E B i BB S B BT v BE0 64 857
B B8 BEE o iy s e il TeE i g
B Fa5 e iy AR TE8 742 FAS B 751 754
7 ?&E B3 T FEY TFTG T3 e T5g J82 TEE
k! eg i s T s 802 S BT #1g B13
4 815 Bl B3 A2 g 2R B3 g: < B35 e
1.0 B Ban Bde 848 BEG A53 B85 BEY BEE BEZ
3.1 Hea 855 BBR B B B4 B BTG Koy B33
e B4 86 B8 B8l B B BEE See BYG 801
13 B0 s B Ros 509 a1 215 B4 16 L1
1.4 218 220 898 et HES g4 ey azg Rec iy 431
18 a3 34 et a7 258 R e 40 41 g B4
iE: 45 R By B8 B43 Betote @51 58 853 B84
17 g o B S4BT D58 458 868 80 851 G50 63
18 284 a8 e S5 7 57 G658 ke g2 a7
1.8 Rersi a5 7R e ) G4 B B G475 a7
20 &7 uEr GTE B8 g2l 73 BB B8 R:apl 281
21 g BBy 583 a83 Rl e GE4 285 g: 5 285
22 el S St 887 a7 BB7 988 BHS BEH 589
2.4 B89 S8y RS 960 S a0 S 97 §:icH 441
x4 e ang SR ety gz o 2 a3 B85 A3 gl
Eﬁ HAS %y A Boi i o a4 S 895 995

-
Page 7 of 7



